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tiEI  2 . aifxima  Pv = PV (1 + i)-*Y Cl t

964 PVt = l,o~oo,ooo u-m

LLB3Tl (1 + iIwt wmiai~  2 ~Yjliiu  0.063

;iJfiM PV = l,OOO,OOO  x 0.061
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blaawall5aTu~~~~~bri7iiuanJT",sJnls  A = 336.5 x 0.374 = 125.85 llln
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t=1
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N P V CL$n i = 18%) = 15 x (4.494 - 1.566) - 15 - 10(.847) -

8(0.718)  - kj(4.495  - 1.586)

= 43.92 - 15 -8.47 - 5.744 - 14.64

= 0 . 0 6 6  irlumn

NW d,  i = 20%) = lti(4.192  - 1.528) - 1s - 10(.833)  -

8(.694)  - S(4.192  - 1.528)

.z 39.96 - 15 - 8.33 - 5.552 - 13.32

=  - 2 . 2 4 %  bmn
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